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" import numpy as np
from scipy.integrate import solve_ivp

' import matplotlib.pyplot as plt

D=0.1

iL=1.0

i N =100

x = np.linspace(0, L, N)
t_span = (0, 10)

y0 = np.zeros(N)
 yo[0] = 1.0

def diffusion(t, y):
L y_left = y[0]
y_right = y[-1]
dydx = np.gradient(y, x)
d2ydx2 = np.gradient(dydx, x)
dydt = D * d2ydx2
dydt[0] =0
dydt[-1] =0
return dydt

sol = solve_ivp(diffusion, t_span, yO, method='RK45', t_eval=np.linspace(t_span[0], t_span[1], 10
 0))

plt.figure()

plt.plot(x, sol.y[:, 0], label='t=0")
plt.plot(x, sol.y[:, -1], label="t=10")
plt.legend()

plt.xlabel('/7 &)

| plt.ylabel (817 /)

| plt.title(' —4E4 HUALERLL)
plt.show()
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